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FHULNEET = Min[E7Hdg 9, Ssid] - 2=
2o = Fe5gY x 71Y7HA
= 3,650kg x 3,0009/kg = 10,950, 000
A7|REE = REMYEd x AR gug
= 15,000,000¢ = 0.2 = 3,000,000¢
AR F = Min[15,000,000¢, 10,950, 0001 - 3,000, 0009
= 10, 950, 000¢ - 3,000, 000 = 7,950, 000¢
TEE |0 sguarYS
SABAREG = Min[RE714Z, 2a09] - xp7|RgF
e = (Fsi5et - nRARS) x 717
= (3,650kg - 365kg) x 3,0009/kg = 9,855,000
A7REE = REZIFY x A|Rgug
= 15,000,000¢ = 0.2 = 3,000,000¢
FEHARFET = Min[15, 000, 0009, 9,855,000¢] - 3,000, 000¢
= 9,855,000¥ - 3,000,0009 = 6,855,000¢
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